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* Recent study showed that the photon rejection of the
LASPD is not sufficient under the current configuration (60
azimuthal segments).

* The study uses half MIP cut (~ 3.8/2) and the rejection
... fagtoris 5.4 for 60 segments.



Alternative option: increasing cut

* The cut has been set to half of the MIP (~ 1.9
MeV). If we can increase the cut, we may be able
to keep the current design.

* From the single pi- simulation, a slightly higher
cut seems to be OK.
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If we set the cut to >
2.04 MeV, we can
meet the rejection
factor goal of 10:1
with the current
design.
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Summary table

efficiency

1.00
1.00
1.00
1.00
1.00
1.00
1.00
1.00

for increasing the
cut to meet the
10:1 rejection
factor goal while
keeping the
charge particle
efficiency high.
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